

ON TERNARY QUADRATIC DIOPHANTINE EQUATION

$5(x^2 + y^2) - 6xy = 196z^2$

M.A.Gopalan¹, S.Vidhyalakshmi², U.K.Rajalakshmi³

1. Professor, Department of Mathematics, SIGC, Trichy-620 012.

Email: mayilgopalan@gmail.com

2. Professor, Department of Mathematics, SIGC, Trichy-620 012.

Email: vidhyasigc@gmail.com

3. Teacher, Sri Ramakrishna Matric Higher Secondary School, Perambalur-621 212.

Email:rajalakshmiuk93@gmail.com

ABSTRACT:

The ternary homogeneous quadratic equation given by $5(x^2 + y^2) - 6xy = 196z^2$ representing a cone is analysed for its non-zero distinct integers solutions. A few interesting relations between the solutions and special polygonal numbers are presented.

KEYWORDS:

Ternary quadratic, homogeneous quadratic, integers solutions.

NOTATION USED:

$$\mathbf{t}_{m,n} = \mathbf{n}\left(1 + \frac{(n-1)(m-2)}{2}\right)$$
, A polygonal numbers of rank n with sides m.

INDRODUCTION:

The Diophantine equations offer an unlimited field for research due to their variety [1-3]. In particular, one may refer [4-11] for quadratic equations with three unknowns. The communication concerns with yet another interesting equation $5(x^2 + y^2) - 6xy = 196z^2$ representing homogeneous quadratic equation with three unknowns for determining its infinitely many non-zero integral points. Also, a few interesting relations among the solution is presented.

METHOD OF ANALYSIS:

Consider the equation

(5)

$$5(x^{2} + y^{2}) - 6xy = 196z^{2}$$
(1)

The substitution of linear transformations

$$\mathbf{x} = \mathbf{u} + \mathbf{v} \; ; \; \mathbf{y} = \mathbf{u} - \mathbf{v} \; (\mathbf{u} \neq \mathbf{v} \neq \mathbf{0}) \tag{2}$$

in (1) leads to

$$\mathbf{u}^2 + 4\mathbf{v}^2 = 49\mathbf{z}^2 \tag{3}$$

The above equation is solved through different methods and using (2), different patterns of integer solutions to (1) are obtained.

PATTERN: 1

Write 49 as

$$49 = (7i) (-7i) \tag{4}$$

Assume

 $z = a^2 + 4b^2$

where a and b are non-zero integers

Using (4) and (5) in (3) and employing the method of factorization, define

$$u + i2v = (a + i2b)^{2}(7i)$$
 (6)

Equating real and imaginary parts, we have

u = -28ab $2v = 7a^2 - 28b^2$

As our interest is on finding integer solutions, choose a and b so that u and v are integers. Replacing a by 2A and b by 2B, we have

$$z = 4A^{2} + 16B^{2}$$

 $u = -112AB$
 $v = 14A^{2} - 56B^{2}$

Substituting the above values of u and v in (2), the values of x and y are given by

$$\mathbf{x} = \mathbf{x} (\mathbf{A}, \mathbf{B}) = -112\mathbf{AB} + 14\mathbf{A}^2 - 56\mathbf{B}^2$$

$$\mathbf{y} = \mathbf{y} (\mathbf{A}, \mathbf{B}) = -112\mathbf{AB} - 14\mathbf{A}^2 + 56\mathbf{B}^2$$
(7)

Thus (5) and (7) represent non-zero distinct integral solutions of (1) in two parameters.

PROPERTIES:

★
$$2x(A,1) + 7z(A,1) - t_{114A} \equiv 0 \pmod{169}$$

- ♦ $6[2x(k^2,1) + 7z(k^2,1) t_{114k^2}]$ is a nasty numbers
- ♦ $2x(A,1) + 7z(A,1) 112t_{3,A} \equiv 0 \pmod{280}$
- * $x(A,19A-17) + y(A,19A-17) + 448t_{21,A} = 0$
- * $x(A,B) y(A,B) + 7z(A,B) 56t_{4,A} = 0$

PATTERN: 2

Consider (3) as

$$\mathbf{u}^{2} = 49\mathbf{z}^{2} - 4\mathbf{v}^{2} = (7\mathbf{z} + 2\mathbf{v})(7\mathbf{z} - 2\mathbf{v})$$
(8)

Write (8) in the form of ratio as

$$\frac{7z+2v}{u} = \frac{u}{7z-2v} = \frac{\alpha}{\beta} , \beta \neq 0$$

which is equivalent to the following two equations

$$\alpha u - 2\beta v - 7\beta z = 0$$

 $\beta u + 2\alpha v - 7\alpha z = 0$

On employing the method of cross multiplication, we get

$$\frac{\mathbf{u}}{\mathbf{14\alpha\beta}+\mathbf{14\alpha\beta}} = \frac{\mathbf{v}}{-7\beta^2+7\alpha^2} = \frac{\mathbf{z}}{2\alpha^2+2\beta^2}$$
$$\mathbf{u} = \mathbf{28\alpha\beta}$$
$$\mathbf{v} = 7\alpha^2-7\beta^2$$
(9)

$$\mathbf{z} = 2\alpha^2 - 2\beta^2 \tag{10}$$

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y are given by

$$\begin{aligned} \mathbf{x} &= \mathbf{x}(\alpha, \beta) = 28\alpha\beta + 7\alpha^2 - 7\beta^2 \\ \mathbf{y} &= \mathbf{y}(\alpha, \beta) = 28\alpha\beta - 7\alpha^2 + 7\beta^2 \end{aligned}$$
(11)

Thus (10) and (11) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

- $2x(\alpha,1) + 7z(\alpha,1) t_{58,\alpha} \equiv 0 \pmod{83}$
- $6[166x(k^2,1)+581z(k^2,1)-83t_{58k^2}]$ is a nasty numbers
- ★ $x(\alpha, 3\alpha 1) + y(\alpha, 3\alpha 1) 112t_{5,\alpha} = 0$
- $\mathbf{x}(\boldsymbol{\alpha},\mathbf{1}) \mathbf{t}_{16,\boldsymbol{\alpha}} \equiv 27 \pmod{34}$
- ★ 4y(α ,1)-14(α ,1)+t_{102α}+t_{14α} ≡0(mod58)

PATTERN: 3

Consider (3) as

$$4v^{2} = 49z^{2} - u^{2} = (7z + u)(7z - u)$$
(12)

Write (12) in the form of ratio as

$$\frac{7z+u}{4v} = \frac{v}{7z-u} = \frac{\alpha}{\beta} , \beta \neq 0$$

which is equivalent to the following two equations

 β u-4 α v+7 β z=0 α u+ β v-7 α z=0

On employing the method of cross multiplication, we get

$$\frac{\mathbf{u}}{28\alpha^{2} - 7\beta^{2}} = \frac{\mathbf{v}}{7\alpha\beta + 7\alpha\beta} = \frac{\mathbf{z}}{\beta^{2} + 4\alpha^{2}}$$
$$\mathbf{u} = 28\alpha^{2} - 7\beta^{2}$$
$$\mathbf{v} = 14\alpha\beta$$
$$\mathbf{z} = 4\alpha^{2} + \beta^{2}$$
(13)

=>

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y are given by

$$\begin{aligned} \mathbf{x} &= \mathbf{x}(\alpha, \beta) = \mathbf{28}\alpha^2 - 7\beta^2 + \mathbf{14}\alpha\beta \\ \mathbf{y} &= \mathbf{y}(\alpha, \beta) = \mathbf{28}\alpha^2 - 7\beta^2 - \mathbf{14}\alpha\beta \end{aligned}$$
(15)

Thus (14) and (15) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

★
$$x(1,\beta) - 7z(1,\beta) + t_{22,\beta} + t_{10,\beta} \equiv 0 \pmod{2}$$

•
$$6[2x(1,k^2) - 14z(1,k^2) + 2t_{22,k^2} + 2t_{10,k^2}]$$
 is a nasty numbers
• $x(2\beta - 1,\beta) - y(2\beta - 1,\beta) - 28t_{6,\beta} = 0$
• $x(1,\beta) + y(1,\beta) - 14z(1,\beta) + 28t_{4,\beta} = 0$

PATTERN: 4

Write (12) in the form of ratio as

$$\frac{7z+u}{2v} = \frac{2v}{7z-u} = \frac{\alpha}{\beta} \ , \beta \neq 0$$

which is equivalent to the following two equations

$$\beta$$
u-2 α v+7 β z=0
 α u+2 β v-7 α z=0

On employing the method of cross multiplication, we get

$$\frac{\mathbf{u}}{\mathbf{14\alpha^{2}} - \mathbf{14\beta^{2}}} = \frac{\mathbf{v}}{\mathbf{7\alpha\beta} + \mathbf{7\alpha\beta}} = \frac{\mathbf{z}}{\mathbf{2\beta^{2}} + \mathbf{2\alpha^{2}}}$$
$$\mathbf{u} = \mathbf{14\alpha^{2}} - \mathbf{14\beta^{2}}$$
$$\mathbf{v} = \mathbf{14\alpha\beta}$$
$$\mathbf{z} = \mathbf{2\alpha^{2}} + \mathbf{2\beta^{2}}$$
(16)
(17)

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y are given by

$$\mathbf{x} = \mathbf{x}(\alpha, \beta) = \mathbf{14}\alpha^2 - \mathbf{14}\beta^2 + \mathbf{14}\alpha\beta$$

$$\mathbf{y} = \mathbf{y}(\alpha, \beta) = \mathbf{14}\alpha^2 - \mathbf{14}\beta^2 - \mathbf{14}\alpha\beta$$
(18)

Thus (17) and (18) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

- $\diamond \quad \mathbf{2x}(\mathbf{1},\boldsymbol{\beta}) \mathbf{14z}(\mathbf{1},\boldsymbol{\beta}) + \mathbf{t}_{62,\boldsymbol{\beta}} + \mathbf{t}_{30,\boldsymbol{\beta}} + \mathbf{t}_{26,\boldsymbol{\beta}} \equiv 0 \pmod{25}$
- $\mathbf{ x}(\boldsymbol{\alpha},-1) + \mathbf{7}\mathbf{z}(\boldsymbol{\alpha},-1) \mathbf{4}\mathbf{t}_{16,\boldsymbol{\alpha}} \equiv 0 (\text{mod} 10)$

PATTERN: 5

Write (12) in the form of ratio as

$$\frac{\mathbf{7z} + \mathbf{u}}{\mathbf{v}} = \frac{\mathbf{4v}}{\mathbf{7z} - \mathbf{u}} = \frac{\alpha}{\beta} \ , \beta \neq 0$$

which is equivalent to the following two equations

 $\beta u-\alpha v+7\beta z=0$

 $\alpha u+4\beta v-7\alpha z=0$

On employing the method of cross multiplication, we get

$$\frac{\mathbf{u}}{7\alpha^{2} - 28\beta^{2}} = \frac{\mathbf{v}}{7\alpha\beta + 7\alpha\beta} = \frac{\mathbf{z}}{4\beta^{2} + \alpha^{2}}$$

$$=> \qquad \mathbf{u} = 7\alpha^{2} - 28\beta^{2}$$

$$\mathbf{v} = 14\alpha\beta$$

$$\mathbf{z} = \alpha^{2} + 4\beta^{2}$$
(19)
(20)

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y are given by

$$\mathbf{x} = \mathbf{x}(\alpha, \beta) = 7\alpha^2 - 28\beta^2 + 14\alpha\beta$$

$$\mathbf{y} = \mathbf{y}(\alpha, \beta) = 7\alpha^2 - 28\beta^2 - 14\alpha\beta$$

(21)

Thus (20) and (21) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

$$\mathbf{x}(\alpha,\mathbf{1}) + \mathbf{7}\mathbf{z}(\alpha,\mathbf{1}) - \mathbf{t}_{\mathbf{30},\alpha} \equiv 0 \pmod{27}$$

- ♦ 6[$3x(k^2,1)+21z(k^2,1)-3t_{30,k^2}$] is a nasty numbers
- * $x(\alpha,9\alpha-7) y(\alpha,9\alpha-7) 56t_{11,\alpha} = 0$
- $2x(\alpha,1) + 14z(\alpha,1) t_{58,\alpha} \equiv 0 \pmod{55}$
- * $x(\alpha, 11\alpha 9) y(\alpha, 11\alpha 9) 56t_{13,\alpha} = 0$

PATTERN: 6

Write (3) as

$$u^{2} + (2v)^{2} = (7z)^{2}$$
(22)

which is in the form of well-known pythagoren equation and it is satisfied by

$$u = p2 - q2$$
$$v = pq$$
$$7z = p2 + q2$$

As our interest is on finding integer solutions, choose p and q so that u, v and z are integers. Replacing p by 7P and q by 7Q, we have

$$\mathbf{u} = 49(\mathbf{P}^2 - \mathbf{Q}^2)$$

$$\mathbf{v} = 49\mathbf{P}\mathbf{Q}$$

$$(23)$$

$$\mathbf{z} = \mathbf{7}(\mathbf{P}^2 + \mathbf{Q}^2) \tag{24}$$

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y given by

$$x = x(P,Q) = 49(P^{2} - Q^{2}) + 49PQ$$

$$y = y(P,Q) = 49(P^{2} + Q^{2}) - 49PQ$$
(25)

Thus (24) and (25) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

*
$$x(1,Q) - 7z(1,Q) + t_{62,0} + t_{52,0} + t_{88,0} \equiv 0 \pmod{46}$$

♦
$$6[-46x(1,k^2) + 322z(1,k^2) - 46t_{62,k^2} - 46t_{52,k^2} - 46t_{88,k^2}]$$
 is a nasty numbers

*
$$x(17Q-15,Q) - y(17Q-15,Q) - 196t_{19,Q} = 0$$

- * $x(P,1) 98t_{3,P} + 49 = 0$
- * $x(P,3P-1) y(P,3P-1) 196t_{5,P} = 0$

PATTERN: 7

Observe that (22) is also satisfied by

$$u = 2pq$$
$$2v = p2 - q2$$
$$7z = p2 + q2$$

As our interest is on finding integer solutions, choose p and q so that u, v and z are integers. Replacing p by 14P and q by 14Q, we have

$$\mathbf{u} = \mathbf{392PQ}$$

$$\mathbf{v} = \mathbf{98}(\mathbf{P}^2 - \mathbf{Q}^2)$$
(26)

(29)

$$\mathbf{z} = \mathbf{28}(\mathbf{P}^2 + \mathbf{Q}^2) \tag{27}$$

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y given by

$$\mathbf{x} = \mathbf{x}(\mathbf{P}, \mathbf{Q}) = 392\mathbf{P}\mathbf{Q} + 98(\mathbf{P}^2 - \mathbf{Q}^2)$$

$$\mathbf{y} = \mathbf{y}(\mathbf{P}, \mathbf{Q}) = 392\mathbf{P}\mathbf{Q} - 98(\mathbf{P}^2 - \mathbf{Q}^2)$$
(28)

Thus (27) and (28) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

- **♦** $2x(P,1) + 7z(P,1) 784t_{3,P} \equiv 0 \pmod{392}$
- $6[4x(k^2,1)+14z(k^2,1)-1568t_{3k^2}]$ is a nasty numbers
- * $x(P,21P-19) + y(P,21P-19) 1568t_{23,P} = 0$
- * $x(P,9P-8) + y(P,9P-8) 784t_{20,P} = 0$
- * $x(P,1) y(P,1) 4(t_{22,P} + t_{21,P} + t_{12,P}) \equiv 74 \pmod{86}$

PATTERN: 8

Consider (3) as

$$u^2 + 4v^2 = 49z^2 * 1$$

Write 1 as

$$1 = \frac{(3+4i)(3-4i)}{25}$$
(30)

Using (4), (5), (30) in (29) and employing the method of factorization, define

$$u + i2v = (7i)(a + i2b)^2 \frac{(3+4i)}{5}$$

Equating real and imaginary parts, we have

$$u = \frac{7}{5}(-4a^2 + 16b^2 - 12ab)$$
$$2v = \frac{7}{5}(3a^2 - 12b^2 - 16ab)$$

As our interest is on finding integer solutions, choose a and b so that u and v are integers. Replacing a by 10A, b by 5B, we have

$$u = 7(-80A^{2} + 80B^{2} - 120AB)$$

$$v = 7(30A^{2} - 30B^{2} - 80AB)$$
(31)

Volume-3 | Issue-5 | May,2017 | Paper-1



and also,

$$z = 100A^2 + 100B^2$$
(32)

Substituting the values of u and v in (2), the non-zero distinct integral values of x and y are given by

$$\mathbf{x} = \mathbf{x}(\mathbf{A}, \mathbf{B}) = -350\mathbf{A}^{2} + 350\mathbf{B}^{2} - 1400\mathbf{AB}$$

$$\mathbf{y} = \mathbf{y}(\mathbf{A}, \mathbf{B}) = -770\mathbf{A}^{2} + 770\mathbf{B}^{2} - 280\mathbf{AB}$$
(33)

Thus (32) and (33) represent the non-zero distinct integer solutions of (1) in two parameters.

PROPERTIES:

- $2x(1,B) + 7z(1,B) t_{2802B} + 1401B = 0$
- $6[-2x(1,k^2) 7z(1,k^2) + t_{2802k^2}]$ is a nasty numbers.
- * $10y(1,B) + 77z(1,B) t_{30802B} 12599B = 0$

REFERENCES:

- [1] Dickson.I.E "History of theory of numbers", vol-2, Diophantine analysis, New York, Dover, 2005.
- [2] Model.L.J, "Diophantine equations", Academic press, New York, 1969.
- [3] Carmichael.R.D "The theory of numbers and Diophantine analysis", New York, Dover, 1959.
- [4] Gopalan.M.A, Vidhyalakshmi.S, Umarani.J, "On the ternary quadratic Diophantine equation $6(x^2 + y^2) 8xy = 21z^2$ "Sch J Eng Tech 2014; 2(2A): 108-112.
- [5] Meena.K, Vidhyalakshmi.S, Gopalan.M.A, Priya.I.K, "Integral points on the cone $3(x^2 + y^2) - 5xy = 47z^2$ " Bulletin of Mathematics and Statistic Research 2014; 2(1):65-70.
- [6] Gopalan.M.A, Vidhyalakshmi.S, Nivetha.S, "On ternary quadratics equation $4(x^2 + y^2) 7xy = 31z^2$ " Diophantus J Math 2014; 3(1): 1-7.
- [7] Shanthi.J, Gopalan.M.A, Vidhyalakshmi.S, "Lattice pointson the homogeneous cone $5(x^2 + y^2) 15xy = 56z^2$ " Sch Journal of Phy Math Stat 2014; 1(1): 29-32.
- [8] Gopalan.M.A, Vidhyalakshmi.S, Mallika.S, "On ternary quadratic Diophantine equation $8(x^2 + y^2) 15xy = 80z^2$ " BOMSR, 2014; 2(4): 429-433.
- [9] Gopalan.M.A, Vidhyalakshmi.S, Kavitha.A, Mary Madona.D, "On ternary quadratic Diophantine equation $3(x^2 + y^2) 2xy = 4z^2$ " Int.J. ofEngg. Sci and Mgmt (IJESM), vol-5, Issue 2: April-June; 2015, 11-18.
- [10] Gopalan.M.A, Geetha.T, Hemalatha.K, "On the ternary quadratic Diophantine equation $5(x^2 + y^2) 2xy = 20z^2$ " International journal of multidisciplinary research and development, vol-2, Issue: 4, 211-214 April 2015.

[11] Gopalan.M.A, ManjuSomanath, Sangeetha.V, "On the ternary quadratic equation $5(x^2 + y^2) - 9xy = 19z^2$ " IJIRSET, vol-2, Issue 6; 2008-2010, June 2013.

CONCLUSION:

In this paper we have made an attempt to obtained all integer solutions satisfying the cone given by $5(x^2 + y^2) - 6xy = 196z^2$. As Diophantine equations are infinitely many, one may search for integers solutions to other choices of quadratic and higher degree equations with many variables.

